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Question Number : 1 Question Id : 9735971084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The programs that instructs computer hardware to process data and generate required information are called:

Options:
1 % Hardware

> % Control Unit
= ® ALU

4 « Software

Question Number : 1 Question Id : 9735971084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 9735971085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following controls the fetching of instuctions and data from the memory, decoding them, and sending
them to the ALLU?

Options:

1 « Control Unit

- % ALU
5 » Input device

4 = Output device

Question Number : 2 Question Id : 9735971085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 9735971086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The frequency at which a microprocessor executes instructions is called its:

Options:
, w Storage capacity

> ® Size
5 » Vvelocity

4  Clock speed

Question Number : 3 Question Id : 9735971086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 9735971087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
With respect to printer, DPI stands for:



Options:
, « Dots per inch

> % Ink droplet

- » Digits per inch

, % Digital pen ink

Question Number : 4 Question Id : 9735971087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 9735971088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The clock rate of a CPU that can perform 2750000000 clock cycles per second is:

Options:
i % 275 Hz

5 % 2.75 KHz

s % 2.75 MHz

Question Number : 5 Question Id : 9735971088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2750000000 Felier WIS Wil Wehs FTlead FA Aol WY HT Faller T grom:

Options:

| % 2.75 Hz



., % 2.75 KHz
- % 2.75 MHz

. v 2.75 GHz

Question Number : 6 Question Id : 9735971089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is true?

Options:
1 % DRAM is faster than SRAM.

> » DRAM stands for Digital RAM.
5  DRAM is cheaper than SRAM.

4 % DRAM uses flip-flops.

Question Number : 6 Question Id : 9735971089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 9735971090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Computer monitor is also called VDU.

1) ABACUS is the first mathematical device developed for arithmetic computations.
Options:
1 « I-Trme, II-True



5 % L= False, II - False
5 % 1-True, II- False

4 % 1-False II - True

Question Number : 7 Question Id : 9735971090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 9735971091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) Cache memory A) Locality of reference
II) Magnetic tape B) Digital video disk
III) Blu-ray C) Sequential access memory

Options:
1 % I-C.II-B,.III-A

, « [-C.II-A,III-B
5« [-AII-B,II-C

L v I-AII-C.II-B

Question Number : 8 Question Id : 9735971091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



fertafaT = & 11

He-1 He-2
) Ser A A) HEE FT FUTT (drhTodr 3% NHiH)
) FAeafesr 2o B) Bfea fiftat =
) sX C) ==frae g AR
Options:
L x 1 -C, Il-B, Il -A
,wl-C Il-All-B
2w l-A N1-B ll-C
Lo l-A ll-C 1l-B

Question Number : 9 Question Id : 9735971092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The language which is converted into machine code by compiler is called:

Options:
,  High-level language

5 w Assembly language
- % Machine language

4 #» Low-level language

Question Number : 9 Question Id : 9735971092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 9735971093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the most important system software, which governs all the activities of the computer?

Options:
1 ®% Anftivirus

5 % Interpreter
-  Operating system

4 % Word processor

Question Number : 10 Question Id : 9735971093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 11 Question Id : 9735971094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to multimedia, DVT stands for:

Options:

1 Digital Video Interface

> # Direct Video Interface

- » Digital Virtual Interface

4 # Direct Virtual Interface

Question Number : 11 Question Id : 9735971094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 9735971095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The abbreviated words used by Assembly language to write programs are called:

Options:
1 ® Stems

- % Tokens

5 % Acronyms

4 « Mnemonics

Question Number : 12 Question Id : 9735971095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 9735971096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following is used for the development of multimedia applications such as games and video on Microsoft
platform?

Options:
1 % Pascal

-~ % Fortran
3 « DirectX

4 # Visual Basic

Question Number : 13 Question Id : 9735971096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 14 Question Id : 9735971097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The sum of 256 Megabytes and 2.25 Gigabytes is:

Options:
| 2.5 Gigabytes

« 2.75 Gigabytes
5 % 20.5 Megabytes

4 ® 20.75 Megabytes

Question Number : 14 Question Id : 9735971097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 9735971098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is initially required to boot a computer system?

Options:
1 + BIOS

- » Floppy
- % Disk cleaner

4 % Antivirus

Question Number : 15 Question Id : 9735971098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 9735971099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The first octet higher order bit for Class-C IP address is:
Options:

1 ® 0
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Question Number : 16 Question Id : 9735971099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 9735971100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following closes all open programs. shut down Windows, and then starts Windows again?

Options:
1 # Lock

> % Hibernate
= « Restart

4 % Switch user

Question Number : 17 Question Id : 9735971100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 9735971101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a Class-D IP address?

Options:
1 » 11100101.10101010.01010101.00001111

-~ % 11001101.11101110.01010101.01001101
= % 10010101.11101010.01110101.00101011

4 % 01110101.10101010.01010101.00001111

Question Number : 18 Question Id : 9735971101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 « 11100101.10101010.01010101.00001111
> % 11001101.11101110.01010101.01001101
z % 10010101.11101010.01110101.00101011

4 ® 01110101.10101010.01010101.00001111

Question Number : 19 Question Id : 9735971102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I} UPS provides emergency power to a computer system when the input power source or mains power fails.
IT) Physical address of a computer is also known as IP address.

Options:
1 « I-Tme, II-False

i L False. II - True

2 ® I-True, II - True



4 % 1-False II - False

Question Number : 19 Question Id : 9735971102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 20 Question Id : 9735971103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) Soft boot A) Minimizes power but keeps computer running
IT) Hard boot B) Restart computer without removing the power
IIT) Sleep C) Power is physically turned off and back on again

Options:
. % I-B.II-ATI-C

, % I-C,II-AII-B

. % 1-C.II-B,III-A

. v I[-B.II-C.II-A

Question Number : 20 Question Id : 9735971103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 9735971104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

OLE is a proprietary technology developed by:
Options:

1 « Microsoft

» w Google
- B IBM

4 % Apple

Question Number : 21 Question Id : 9735971104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 9735971105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The key-size in DES including parity bits is:
Options:

1 % 36 bits

> o 64 bits

= % 128 bits

256 bits

o
®

Question Number : 22 Question Id : 9735971105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 9735971106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Windows 7 is the successor of and predecessor of

Options:
1 ¥ Windows Vista, Windows 8
o % Windows XP. Windows 8

= % Windows 8, Windows Vista

4 % Windows 8, Windows XP

Question Number : 23 Question Id : 9735971106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 9735971107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
With respect to security, DES stands for:

Options:
, « Data Encryption Standard

-~ % Dual Encryption Standard

- » Data Encryption Schema

4 % Dual Encryption Schema

Question Number : 24 Question Id : 9735971107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 25 Question Id : 9735971108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the action of recording the keys struck on a keyboard?



Options:
, « Keylogging

> # Keying

- u Surfing

4 % DBrowsing

Question Number : 25 Question Id : 9735971108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 26 Question Id : 9735971109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) DES is now considered to be insecure for many applications due to small key-size.
IT) Spyware aims to collect personal information or monitor users browsing activities.

Options:
; = I-Troe, TI- False
o L False. II - True

3  1-True, II - True

4 % 1-False II - False

Question Number : 26 Question Id : 9735971109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Hel 1 ¥HT FUA FABT

) e Frums & FEw fEvE F o % vEnees F e sgiEe A s e g
I} FETEOT @ IRIT ST SR EET ST A T=T wr watae aiafERat & feEh s R

Options:

x| - T, - 3w
o w | - 3@, |l - e
o -T= - T
, ow |- 3EEE, | - FEeT

Question Number : 27 Question Id : 9735971110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a case-sensitive operating system?

Options:
1 % DOS

> % Windows
= % Both DOS and Windows

4 « Unix

Question Number : 27 Question Id : 9735971110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 9735971111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following DOS command graphically displays the directory structure of a drive or path?

Options:
1 ® DIR

> % DISPLAY
= « TREE

4 % DIRTREE

Question Number : 28 Question Id : 9735971111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, % DIR
, » DISPLAY
s v TREE

. » DIRTREE

Question Number : 29 Question Id : 9735971112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Downloading is a process to move a file from:

Options:
1 % local machine to web server

> « web server to local machine
= #% one local machine to other local machine

4 % one web server to other web server

Question Number : 29 Question Id : 9735971112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 9735971113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following file format is used to exchange documents reliably, independent of software, hardware or
operating system?

Options:
i ® RAR

> « PDF
s % MDB

4 % DOC

Question Number : 30 Question Id : 9735971113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % RAR
. « PDF
- » MDB

. » DOC

Question Number : 31 Question Id : 9735971114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) PDF f{ile format was invented by Microsoft.
II) A PDF file cannot contain links and buttons.

Options:



; = I-Troe, TI- False
o L False. II - True
3 % I-True, II - True

T = False. II - False

Question Number : 31 Question Id : 9735971114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 9735971115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) exFAT is a valid variant of FAT, which is optimized for flash memory.
IT) FAT32 was introduced by Microsoft.

Options:
, % I-Tre, II-False
i 8 L False. II - True

=  1-Tre, II - True

4 % 1-False II - False

Question Number : 32 Question Id : 9735971115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 9735971116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following allows you to duplicate a section of text in a document?

Options:
1 % Cut and Paste

-  Copy and Paste

= % Cut and Print

4 ® Cutand Save

Question Number : 33 Question Id : 9735971116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 34 Question Id : 9735971117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
In MS-Word. automatically moving to the next line when you have filled one line with text is called:

Options:
| « Word wrap

-~ % Hyphenation

- % Page orientation

, » Pagemargin

Question Number : 34 Question Id : 9735971117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THTH-IE F, % N9 B v & fvre W 8T & § A 3 a9 A SR WY T A W o
T R
Options:

L v T

> % ETAALUT

- % U HIRTEAS
4 % U A

Question Number : 35 Question Id : 9735971118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Customized text that the word processor puts at the top of every page of a document is called:

Options:
1 % Footer
-~ % Footnote

3 « Header

4 % Title

Question Number : 35 Question Id : 9735971118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

FECATSSS SFEe 9 a8 O SegHT F Yois U & oW T I@ar ¢, FEr S g



Options:

1 ® 2

AT

o #® 2

S.J?’?‘T

g TREE

Question Number : 36 Question Id : 9735971119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word, function key to choose the Spelling command is:

Options:
1 ® F1

4.« F7

Question Number : 36 Question Id : 9735971119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TATHE-IE H, T FAE TAA H T Fell ¢

Options:

1 ® F1
o ® F2
ST ] FE‘

4« F7

Question Number : 37 Question Id : 9735971120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In MS-Word. short-cut key to perform Redo (Repeat) is:
Options:

1 8 Ctrl+Z



> o Cll+Y
z % Ctl+D

4 % Ctl+R

Question Number : 37 Question Id : 9735971120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TATE-ag H, g () #r aie-we F=i &

Options:

, % Ctrl + Z
o @ Clrl + Y
2 % Cil + D

4% Cirl + R

Question Number : 38 Question Id : 9735971121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) In MS-Word, shading is used to color the background behind the selected text or paragraph.
IT) MS-Word does not support multi-level list.

Options:
1 w I-Tre, II True

> « 1-True, II - False
- % I- False. II - True

4 % 1-False II - False

Question Number : 38 Question Id : 9735971121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hell AT ATcT A dAE01
) veTE-aE & TOed dFre ar demw & S TesiR w1 Fe 50 & W ST & s G
e
) THTE-EE sgET g (R F weEds @6 S g

Options:



BREE
I

Question Number : 39 Question Id : 9735971122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following errors occurs when a cell reference is not valid?

Options:
1 ® #DIV/O!

u

#VALUE!

ra
®

5 % #NAME?

4 « #REF!

Question Number : 39 Question Id : 9735971122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HAET ¥ FeE B W Teaeid # @ s @ 3 s &

Options:

. = #DIV/O!
. % HVALUE!
- % #NAME?

. v HREF!

Question Number : 40 Question Id : 9735971123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

5‘[’11 6th

The address of the Excel cell at the intersection of 5™ row and 36" column is:
Options:

1 B #HATS



3 o AJ5

4 % AK5

Question Number : 40 Question Id : 9735971123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

5 I 3T 369 HaIH & HAE 9T TFHT T T IaT g
Options:

% #AJS

5 % 5-AJ
- v AJS

. % AK5

Question Number : 41 Question Id : 9735971124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number of cells in the cell range AB10:AF14 is:
Options:

1 ® 20

[ ]
Lh

o o

.
®
&1
J

Question Number : 41 Question Id : 9735971124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
&9 & AB10:AF14 H T 8 1 H&T &

Options:

1 ® 20‘

ST ] 52

g4 24



Question Number : 42 Question Id : 9735971125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel formula =INT(125.9) is:

Options:
1 % -125

> % -126
5 o 125

4 % 126

Question Number : 42 Question Id : 9735971125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TeFHe BEgem =INT(125.9) &1 #= g1

Options:

| % -125
, » -126
2« 125

L % 126

Question Number : 43 Question Id : 9735971126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is more appropriate when one has to show the relative propertions or contributions to a whole
visuallv?

Options:
1 % Bar chart

> # Line chart
3 « Pie chart

4 % Area chart

Question Number : 43 Question Id : 9735971126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
78 WU A9 T Y U 7 79 ° B @ O Weieieg & ¥ i m A0 suged aa v

Options:



4 & Qﬁ_ﬂTEﬂ%

Question Number : 44 Question Id : 9735971127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel formula =0DD(-254) is:

Options:
1 o =255

> % =253

Question Number : 44 Question Id : 9735971127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TeFHe BRem =ODD(-254) & AT ge:

Options:

| v -255
. ®» -253
5 % 253

., % 255

Question Number : 45 Question Id : 9735971128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression =256/8%4-14/2 is:

Options:
1 ® 1

> B 57



5 o 121

4 B -3

Question Number : 45 Question Id : 9735971128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UFOoT HHFIOT =256/8*4-14/2 &1 HATH I

Options:
1 ® 1

= b 121

4 % -3

Question Number : 46 Question Id : 9735971129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) In Excel, the ampersand (&) symbol is used to define absolute cell reference.
IT) More than 16 charts cannot be inserted into an Excel worksheet.

Options:
1 % I-True, II - True

> % 1-True, II - False
- % I- False. IT - True

4 « 1-False II - False

Question Number : 46 Question Id : 9735971129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tog 4T FEcH Ha Joss |

) TEEE H, TFds (&) 9 # 399 07 I Hed & IS #e & B B S g
Il) fdr ooee T B 16 ¥ s =F 7 TmE BT ST B

Options:

; » 1 -8F, |l - 8T



oo | - T, Il - 3T
o w | - 3@, |l - §T

Lo | - 3T, | - FEeT

Question Number : 47 Question Id : 9735971130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a music and video sharing site?
Options:

, w Flipkart

5 % eBay

3 « YouTube

4 % Twitter

Question Number : 47 Question Id : 9735971130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T=faf@a # @ w7 O T=ha ik Sifzar aafer ase 32
Options:

, # [ergeTe
T

Question Number : 48 Question Id : 9735971131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

While using Google. putting words in double quotes results in webpages having:
Options:

i\ il The same sequence of words

> % None of the words



5 » Any of the words

4 % At least one word

Question Number : 48 Question Id : 9735971131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T & FE FA THY, 8L 3E0 (FE) BeA & el F e oy & 0 399 A § e
gre &

Options:

l_yawﬂaﬁm
, % U H ¥ FHIg
L x U@ H Py o

4 % FH W FH TF A

Question Number : 49 Question Id : 9735971132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Which of the following can be considered as an online encyclopedia providing information on various topics?

Options:
1 ®% Twitter

> % Facebook
5  Wikipedia

4 % Opera

Question Number : 49 Question Id : 9735971132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

frafoflE 7 & Y oF iaoEs fvesnr & 59 F #760 = 9 £ = B fawat o S

Options:



. v R

4.&#3‘1‘1%

Question Number : 50 Question Id : 9735971133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
While browsing a webpage. the process of saving files onto the computer is referred to as:

Options:
, = Surfing

> % Uploading

5 » Discarding

4 w Downloading

Question Number : 50 Question Id : 9735971133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FT 9IS T3 A THYT, Fo4L W JF & 7 Tl Hl 57 & A TG (bl AT &

Options:

1@3'-9'%1-

g_am
Bﬁm

4 v ET3AEEN

Question Number : 51 Question Id : 9735971134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Encryption laver is an important layer of OSI model.
II) In TCP/IP model. IP stands for IP address.

Options:
; & I-Troe, II- False

o L False. II - True



z % I-True, II- True

4 « 1-False II - False

Question Number : 51 Question Id : 9735971134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hed 4T HHcY hid dd1gC |

) uiEFeE SRR HTHITE AlST # TH Hgcaqul oI gl
1) Srardyamedr Aee T e v 3 e vy 2T B

Options:

x| -w el - 3w
o w | - 3T, |l - @
L x| -T, Nl - T
Lo | - 3T, - T

Question Number : 52 Question Id : 9735971135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 set-2
1) TCP A) 32-bit
Iy UDP B) Connection-oriented
IIT) IPv4 address C) Connectionless
Options:

. ¢ I-B,II-CII-A
, % I-B,II-AII-C

2w [-C.II-A III-B

, % I-AII-C.II-B

Question Number : 52 Question Id : 9735971135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



ferfafaT = & 11

Te-1 -2
) &y A) 32-faT
1) I3 B) sae-3iiues
1) IPv4 T28 C) FFaa-org
Options:
Lo l-B II-C ll-A
»xl-B Il-Alll-C
2 l-C. l-All-B
gnd-KN-E. 0 -8B
READING COMPFREEHERMSTONM
Section Id : 973597162
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 973597162
Question Shuffling Allowed : Yes

Question Id : 9735971136 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (53

to 57)

Juestion Label - Comprehension



Read the following passage and answer the questions based on it.

Interviewer: (Int) Tell us something about yourself.

Interviewee: (Annu) I passed out from Delhi University with a
post-graduation in Education. I've been working for the
past one year in an organization that publishes children’s
magazines, but I'm looking to expand my horizons now
and work for a larger corporate entity like yours.

Int: Why are you interested in this position?

Annu: I visited your website and found that your company does a lot of
work for improving literacy levels in public schools. In college. I
participated in a number of programmes that were aimed at
encouraging students to attain greater heights in their education.
I think that it would be a rewarding learning experience for me.
and I believe that I can use my past experiences to excel in the
position.

Int: What’s one of your weaknesses?

Annu: I would say that it is not my weakness but yes an area not
captured much in my previous job. I did not have much
opportunity to practice public speaking because the job involved
more sedentary deskwork. I would really like to work in a place
that could allow me to develop this skill further.

Int: How do others describe you?

Annu: My colleagues describe me as a hard working person. I'm the
first one to lend a helping hand to others when needed. I've
always been very self-motivated. and my colleagues know that
they can count on me.

Int: Why do you think that you are the best candidate for this
position?

Annu: I'm really impressed by the work that your company does in the
field of teacher training. I have worked with an NGO before and
done some research and training work in the rural sector. So. it is
not a new area for me to explore.

Int: Do you have any questions for us? Or. is there anything about
the company that we haven’t told yvou?
Annu: I would like to know the extent of travel involved in this job.

Int: Well. the job will give you a lot of scope to deal with people and
train teachers from different schools pan India. I am sure it will
be quite interesting and challenging for you.

Sub questions



Question Number : 53 Question Id : 9735971137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The candidate did her post-graduation in field of:
Options:

1 ® Law

> % Medicine
3 « Education

4 % Politics

Question Number : 54 Question Id : 9735971138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the reason stated by Annu for her job
change?

Options:

, % She has a bad boss and low salary and perks.

She likes to travel and hence this profile excites
> % her.

She wants to work in a large corporate firm
-  Providing wider exposure,

She has been referred by someone for this big
4 % Opportunity.

Question Number : 55 Question Id : 9735971139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“I visited your website and found that your
company does a lot of work for improving literacy
levels in public schools™- from this we can infer
that she is:

Options:

, w techsavvy. blogger and smart.

5 o tech savvy. prepared and well informed.

- % clever, hardworking & honest.



4, » honest, dashing & brave.

Question Number : 56 Question Id : 9735971140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The job interview is regarding finding the right
candidate for:

Options:

| « Teacher training

~ % Website development
- % Lesson planning

4 » Marketing

Question Number : 57 Question Id : 9735971141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Her (Annu’s) colleagues describe her as:
Options:

, w clever & diplomatic.

> % rational & brave.

5 o Self-motivated & helpful.

4, % humorous & responsible.

Question Id : 9735971136 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 9735971137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3FAEaR & & @vT 7 T=aeea] &1
gers #r of?

Options:
chlalal

1 ® &,

Question Number : 54 Question Id : 9735971138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AR FEore & T 3es] A FAT HROT
F9TIT 27

Options:
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Question Number : 55 Question Id : 9735971139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

|« TR 9, R AR T

. » Theh $H, dIAR AT 30T AFERT W gl
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Question Number : 56 Question Id : 9735971140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

SATeRdT TSR & foT m@r
3FHIEER # 99 A & &)
Options:

| TRreTes gferetor

, » JeaEe faw
5 % UTS TIsAem

4 # 9O

Question Number : 57 Question Id : 9735971141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3TF (3o ) HearT 39w w7 F o
T 87
Options:
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QUANTITATIVE AFTITUDE

Section Id : 973597163

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 973597163
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 9735971142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What will come in place of the question mark (?) in the following number series?
11,12, 2681, 7

Options:
1 ® 324

> o 328

Question Number : 58 Question Id : 9735971142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

AT =T e § ARE (7) & TE W FT HTE?
11,92 26, 81, 7

Options:

, % 324

» & 328

2 % 320

4 % 280

Question Number : 59 Question Id : 9735971143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



An article is sold at a certain fixed price. By selling it at 273 of that price. one incurs a loss of 10%. The gain percentage
on selling it at the eriginal price is:

Options:
1 ® 20.25%

Question Number : 59 Question Id : 9735971143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

vE IFg FR BifTe Aew o d SRR B SW Aew F 23 W ORH dW W 10% Froofy gk b oww
A7 AFT 91 39e 97 ¥ AioenT g

Options:

. % 20.25%
- % 33.5%
- % 35.75%

4 v 35%

Question Number : 60 Question Id : 9735971144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
16 men can complete a piece of work in 7 days. In how many days will 28 men complete the same work?

Options:
, » ©6days

o o 4days

s w 3 days

4 w 8days

Question Number : 60 Question Id : 9735971144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
16 9%9 frEr & 1 7 7 7 9 &% "end g1 W FH FF 28 7V fhad oAt # 9w w6

Options:




Question Number : 61 Question Id : 9735971145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The sum of 5% of X and 4% of v is % of the sum of 6% of x and 8% of y. The ratio of x to the y is:

Options:
1% 2:3

Question Number : 61 Question Id : 9735971145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
x % 5% 3Ry & 4% F1 AT x ¥ 6% AR y & 8% F W @ - ¥ x ARy F I3

Options:

23
o 32
2o 43
4% 33

Question Number : 62 Question Id : 9735971146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The average of three numbers x. v and z is 120. If the largest number is 140 and difference between the other two
numbers is 40, then what is the smallest number?

Options:
1 00



> % 100
s % 110

4 % 120

Question Number : 62 Question Id : 9735971146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A wEa x, y ATz F AT 120 §1 3 vEE a9 wEar 140 @ HR e & wemst F7 s 40
gt Of I TS T F4 EEY

Options:

. % 100
2 % 110

4 % 120

Question Number : 63 Question Id : 9735971147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the greatest possible area for a right angled triangle of hypotenuse 14 cm?

Options:

L 7
1 #% 35cm”

!
-~ % 42cm”

5 % 3542 cm?

7
4 o 49 cm”

Question Number : 63 Question Id : 9735971147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
14 THAT 0T AT THSIOT T3S T HOFTH HAST &TTFel 4T BI?

Options:



= % 35V2 T o

4 v 49 T JA

GEMEREAL MEMNTAL AEILITY AND REASONING

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

973597164
4

Online
Mandatory
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Question Number : 64 Question Id : 9735971148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The position of how meny digits) in the nomber 213698 will rermain same after the momber 1s srranged in the ascending

prider?
Options:
1 % One
> o TwWo

z % Three

4 % More than three

Question Number : 64 Question Id : 9735971148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ot Ear 213698 3 & &= FEAET F4 § oaiym T aw, G ae A = wne aonEtae wenre?

Options:
1, % Ueh

z.cfa?r

gléﬁm



Question Number : 65 Question Id : 9735971149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a code language, if INDIA is coded as 95491, what is the code for BHARAT?

Options:
1 % 313412

> % 281915
3 % 223413

4 « 281912

Question Number : 65 Question Id : 9735971149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fardly pesr A, afE INDIA Fr 95491 F:If3T farar smar g, a@ BHARAT &7 &3 47 g1em?

Options:

% 313412
, % 281915
o % 223413

L v 281912

Question Number : 66 Question Id : 9735971150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A man mans 6 km east, then turns right and mns 4 km and further furns right and nans 9 km: How far is he from the
starting point?
Options:

1 % 2km
> % 3km
3 « Skm

4 #% 6km

Question Number : 66 Question Id : 9735971150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
U R E A6 AT fea , TR m A e g i 4 B dsm . | R g T
matdv Bedm et mam W g R RS g

Options:

1 ® 2%
> ® 3%

4 ® Sﬁq:ﬁ

Question Number : 67 Question Id : 9735971151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A man said to a lady. “Your mother’s husband’s sister is my aunt.” How is the lady related to the man?

Options:
, » Daughter

-~ % Grand daughter
z % Mother

4 « Sister

Question Number : 67 Question Id : 9735971151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T TEH TS ARer U FEal 8, TN AT & O 7 "wa A9 3 @) A 99§ B 9N feEne 17

Options:

1 ® 2
o ® qrcit
T W ;ﬁ-

4 o g

Question Number : 68 Question Id : 9735971152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ifa@b=a’b” +ab,then3 @ 8= 7



Options:
1+ 600

5 % 552
2 % 576

4 % 625

Question Number : 68 Question Id : 9735971152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
aa@b=a’b+ab, AT3@8=7
Options:

. v 600
, # 552
. = 576

, # 625

Question Number : 69 Question Id : 9735971153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A statement followed by two conclusions is given.

Select a conclusion that follows from the statement, assuming everything in the statement to be true.

Statement: A= B.B= C.D=C

Conclusion:
I. A=C
II. D<B
Options:
, w Only conclusion I follows

> » Only conclusion II follows

= % Either conclusion I or II follows

4 « Neither conclusion I nor II follows



Question Number : 69 Question Id : 9735971153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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GEMERAL AWARENESS

Section Id : 973597165

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 973597165
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 9735971154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Indian Institute of Forest Management (ITFM) is located at:
Options:

1 % Chennai



-  Bhopal
3 % Hissar

4 % Dehradun

Question Number : 70 Question Id : 9735971154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ARAT 39 99T TEA (IFM) g e 272

Options:

> v ST
- % TEER
o CBUGE

Question Number : 71 Question Id : 9735971155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Indian Railways’ fastest train Gatimaan Express made its inaugural run on which of the following dates?

Options:
13 April 2016

24 May 2017
. % 1July2017

4 % 31 March 2016

Question Number : 71 Question Id : 9735971155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HITATE 59 & WO 99 99 96 &7 TaAE URRYH F ITHeS FiEiEs 7w i O @i o
FHT uT?

Options:

.« 5 30 2016



24 A 2017

2z "
. 1 % 2017

4 % 31 AT 2016

Question Number : 72 Question Id : 9735971156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pulitzer Prize is awarded for outstanding work in the field of

Options:
; = Science and Technology

> « Literature and Journalism

- » International Understanding

4 % Environmental Studies

Question Number : 72 Question Id : 9735971156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

qfeiee R ¥ F 8T H 3cpse FY F 60 FEATAT har A

Options:

R CREEGETIED

. v TR T 9]

. x AT FASA

4 % TTEIOT HeTT

Question Number : 73 Question Id : 9735971157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following won the Noble Prize in Physiology or Medicine in 1923, for the discovery of Insulin?

Options:
1 # Robert Koch

- % James Watson



5 » Otto Warburg

4  Frederick G. Banting and John Macleod

Question Number : 73 Question Id : 9735971157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Teetad § & B sgiea & @i & BIw 1923 & gt o Rt & dee sy Jr an?

Options:

1 ® Tﬁé’ﬂ-ﬂ?

> % FAFH FCHA
= # mw
4 v Wi 3 dfEwT ik I deemas

Question Number : 74 Question Id : 9735971158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was recently appointed as the head coach of Indian cricket team?

Options:

, w Virender Sehwag

-~ % Tom Moody

= « Ravi Shastri

, w Lalchand Rajput

Question Number : 74 Question Id : 9735971158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 75 Question Id : 9735971159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who has the written the book *‘The City of Joy’?

Options:
1 % Jawaharlal Nehru

-  Dominique Lapierre

%z % Salman Rushdie

4 ® H.G. Wells

Question Number : 75 Question Id : 9735971159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T fdr 3% s geae feaa fagr @
Options:
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Group Id: 973597110
Group Maximum Duration : 5
Group Minimum Duration : 5
Revisit allowed for view? : No
Revisit allowed for edit? : No
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Mandatory Break time: Yes
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Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 973597166
Question Shuffling Allowed : No

Question Number : 76 Question Id : 9735971160 Question Type: TYPING TEST Display Question Number : Yes
Wornen's History Month is an annual declared month that is traditionally held in March, but the study of
wWOITIen's Nistory 1s valuable all twelve months of the year, Worren have overcorne daunting odds 1o succeed
and excel in all areas of human endeavor, including science, I'ﬂElI'lLlelCtLlI‘iI‘lg, athletics, business, and
exploration.
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Question Shuffling Allowed : No

Question Number : 77 Question Id : 9735971161 Question Type: TYPING TEST Display Question Number : Yes

Marketers at Argos, Microsoft and Citi Eank have urged brands and startups organization to acknowledge that
people now work: for purpose that is not just money which they will need to recognize if they want to undergo
a successful digital transformation. Eorman Rock of Argos at Global Acadermny of Digital Marketing said having
been part of two digital transformations that is ET and EE which involved three transformations within 18
meonths and has found that cultural change and process was crucial. He described the digital transformation
at EE as done well but adrmitted there are still areas for improverment at Argos and a need for more honest
conversations. Argos invested a quarter of a billion to transform but has not done anything to change its
culture and practice as told by owner. They further added that they have new technology but unfortunately it
has the same problerrs. He believes this is 8 problemn many businesses experience whern undergoing a digital
transformation where they change their technology rather than make a real cultural change. Also talking at the
avent, Steven Woodgate CMO UK at Microsoft agreed thers is more to a digital transformation than technology
and that purpose is playing an increasingly important role. There is a new wave of people coming in that will
never earn as much as their parents. These people are working for purpose rather than money, so brand
purpose it crucial as he said. As per him 5% of the roles that today students will go into do not exist yet. In
order to deal with this, marketers need to be hiring people with a wide range of skills rather than those that are
experts in one industry. Despite these jobs not yet existing he believes the future is quite predictable and there
has never been a better time to add value. He said potential future jobs could include a virtual habitat
designer, space tour guide, Internet of Things data creative or a freelance bio-tracker. All things he reckons
businesses can start preparing for. Sirnilarly Citibank global head of digital marketing Simon Kingsnorth said
companies need to hire people not for their experience as this can be taught but for them as a person. He also
said that when dealing with ernployees roarketers st understand that technology is nothing more than a
facilitator. During further conversation Kingsnorth clearly said that it is not about the technology that is just
the enabler. You cannot launch social media without a process put in place. One need the customer service and
website process to be perfected first. We have to understand style of human work along with technology and
then find out effective solution to fit to work along with humarn.
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